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BIOLOGY SSC-I
SECTION ~ A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compuisory. Ali parts of this section are to be answered on the question paper itseif.
it shouid be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deieting/overwriting is not allowed. Do not use iead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i)
(ii.)
(iii)

(iv)

(xii)

- The study of internal structures is called

The percentage of proteins in chicken is

A. 15 % B. 20% C. 25 % D. 30%
Which of the following is the Energy producing centre of the cell?
A Centrioles B. Vacuole 103 l Mitochondria D. Ribosomes

ATP molecule was discovered in

A 1931 AD B. 1930 AD C. 1928 AD D. 1929 AD
Which of the following is a Macronutrient?

A. Sulphur B. Iron - C. Zinc D. Copper
Which of the following organs of our body destroyg old Red Blood Celis (RBCs)?

A Lungs B.  Heart C. Liver D. Kidney
Pancreas releases digestive enzymes into

A Duodenum | B. Colon 10 Liver D. Gallbladder

By which process does the Gaseous exchange in lungs occur ?

A ‘Osmosis B. Diffusion C. Filtration D. Active transport

A Histology =~ "B. - - Physiology C. Anétomy D. Taxonomy

- Which gas is produced as a by~product during photosynthesis?

A Hydrogen - B. 'Qxygen C.  Nitrogen - D. co,
A Centrosome consists of ____.centrioles. )
A, 2 B. 4 C. 3 p. 1

The light rays'of whiéh wavelength are absorbed maximum by chlorophyli?-

‘A -Green and Blue ) B. Green and Red

C.  Greenonly ‘ D. Red and Blue
Which of the following 'veins"carry. blood from Kidneys?

A Genitalvein B.  Hepaticvein C.  Renalvein ~ D.  Noneofthese
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BIOLOGY SSC-| 2K

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any iwo questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)
Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. {11 x3=33)

(i) What happens in the S-phase of cell cycle?
(i) How does Anabolism differ from Catabolism?
{iii) Write down the role of Chlorine and Nickel in plant life,
{iv) What are Bioelements?
(V) Briefly write the Colonial type of celiuiar organization.
{vi) How does Alcoholic Fermentation occur?
{vii) Define the following:

a. Entomology b. Taxonomy
(viii)  Write down the functions of the foilowing:

a. RBCs b. Platelets
{ix) What is the rate of normal Heart Beat in humans?
{x) What do you mean by Bypass Surgery?
(x1) Differentiate between Voluntary and Involuntary Muscles.
{xif) Name the types of Plastids.

(xiii)  Write a short note on Necrosis.

(xiv)  How does the concentration of ("0, affect the process of photosynthesis?

{xv) What does the word Malaria mean?

SECTION — C (Marks 20)

Note: Attempt any TWO questions. Ail questions carry equal marks. (2 x 10 = 20)
Q.3 a. Explain the various types of Permanent tissues of plants. (06}
b. Discuss Fluid-Mosaic Mode! of Cell Membrane. Also draw its diagram. (04)
Q.4 Define Mitosis. Explain the phases of Mitosis with the help of a diagram. (10)
Q.5 a. Define Transpiration. Explain the factors affecting the rate of Transpiration. (06)
b. Write down the status of Virus. (04)
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BIOLOGY SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: €£2ction-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct optioni.e. A/ B/ C{ D. Each part carries one mark.

(i) Which chemical is present in the cell wall of Fungi?

A Cellulose B. Chitin C. Glucose D. Protein
(ii) Who discovered nucleus in the cell?

A Schwann B. Rob.ert Hooke C. Robert Brown D. Schleiden
@iy Lack of iodine in the diet causes

A Goitre B. Marasmus C. Anaemia D. Kwashiorkor

(iv) Which cell organelle help in the formation of spindle fibres?

A Ribosomes B. Vacuoles

C. Golgi apparatus | D. Centrioles
(v) The microscopic study of tissues is called

A Cell biclogy B. Histology C. Physiology D. Morphology
(wi’ The percentage of lipids in Rice is

A 4% B. 0.1% C. 3% D. 0.5%
(vii) The cell cycle consists of | major phases.

A 3 B. 4 C. 2 D. 5

(viil)  Scurvy is caused due to the deficiency of Vitamin

A D B. K C. A D. c

(ix) Thalassaemia is a disease of

A Blood B. Bones C. Heart D. Lungs
(x) Almost all the Enzymes are
A Carbohydrates B. Protein 03 Lipids D. Nucleic acids

(xi) What type of movement of molecuies requires energy?
A Diffusion B. Osmosis C. Filtration D. Active transport

(xii) Plasmodium in the blood causes

A Malaria B. Typhoid C. Cholera D. Tetanus

For Examiner's use only:

Total Marks: 12
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BIOLOGY SSC-I Zq 4

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=33)
(i) What do you mean by Biodiversity?
(i) What is the difference between Botany and Zoology?
(iii) How does cell work as an open system?

(iv) Define the foliowing:
a. Karyokinesis b. Cytokinesis
(v) Name any three types of epithelial tissues.
(Vi) Name any two diseases caused due to the deficiency of Vitamin-D.
(vil) Write a short note on Nervous tissue.

{vii)  Write down the significance of Mitosis.

(ix) What is the importance of ATP molecule?
(x) How is the over-intake of Nutrients harmful for us?
(xi) What is the average life of an RBC?

(xii) Write down the role of the following minerals in our body:

a. Iron b.  Chormium
(xiii)  Write down the scientific names of the following organisms:
a. Mustard b. Frog

{xtv)  Wirite down any three characteristics of a good Hypothesis.
(xv) Draw a labelled diagram of a general prokaryotic cell.

SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)
Q.3  Explain the role of Stomach and Small intestine in the process of digestion of food. (10)
Q.4 a Explain the process of Mechanism of photosynthesis. (06)
b. Wirite the uses of Enzymes. (04)
Q5 a Explain five kingdom system of classification. Also draw diagram. (06)
b. Write a note on Mitochondria. Also draw its diagram. (04)
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